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QUESTION 1

A customer needs to order an HPE Apollo 2000 chassis and compute trays. The customer\\'s requirements are as
follows:

-Four nodes

-SATA SSD storage of 23TB

HPE Secure Encryption on the storage Which compute tray should the architect recommend?
A.

XL190r

B.

XL220a

C.

XL230a

D.

XL170r

Correct Answer: A

QUESTION 2

An architect is designing an HPE Apollo 6000 solution to support an HPC application that is highly parallel and involves
a lot of communication between compute nodes. The architect is choosing the FlexibleLOM options for the compute
trays. Which technology should the architect ensure that the trays support?

A. VXLAN offloading

B. Fibre Channel over Ethernet (FCoE)

C. RDMA over Converged Ethernet (RoCE)

D. iSCSI hardware initiator

Correct Answer: D

QUESTION 3

Which factors must the architect consider to help define an appropriate HPE server solution to meet a customer\\'s
needs?
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A. the legacy hardware and software solutions that the customer is currently running, whether the customer is
standardized on x86 architectures, and which storage and networking protocols the customer is using

B. the number of users for the application, the IT resources required by the application, which applications can be
consolidated, and whether there are any Service Level Agreement (SLA) requirements

C. whether the customer is considering solutions for the New Style of IT, for Security, for Big Data, or for Mobility

D. the installed base of ProLiant, 3PAR, and ProCurve products, and whether any Cloudline opportunities exist at the
customer site

Correct Answer: B

QUESTION 4

A customer recently purchased an HPE Moonshot chassis to host its internal website. Subsequently, the customer
reports difficulties deploying new cartridges in an efficient manner. The customer suggests exchanging the solution for a
more traditional server platform.

What can the architect demonstrate to the customer to help solve the problem while preserving the validity of the
original design solution?

A. how to use SCCM to provide a graphical installation method for new nodes

B. how to use VSP to provide a graphical installation method for new nodes

C. how to add an mRCA module to provide a graphical installation method for new nodes

D. how to use iLO remote console to provide a graphical installation method for new nodes

Correct Answer: C

In order to interface with the specific server cartridge node, the mRCA must be installed in a specific slot within the

chassis, relative to the linking server cartridge. Reference: https://h20565.www2.hpe.com/hpsc/doc/public/display?
sp4ts.oid=5365577anddocLocale=en_USanddocld=emr_na-c04785597

QUESTION 5

An architect needs to scope the number of required m710p cartridges for video transcoding. The architect plans to aim
for an additional 20 to 25 percent growth capacity.

In addition to this growth capacity, which factors will determine the number of required cartridges? (Choose two.)
A. the amount of memory required

B. the number of video streams required

C. the number of formats to which to convert

D. the number and type of processors

E. the amount of storage capacity required
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Correct Answer: BE
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